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scoring most number of rune in the toumament in
Women's World cup cricket held recantly:

{A) Anya Shrubsole (B} Megan Schutt
{C) Jess Cameron (D) Surie Bales
Who won th - insugursl mmmmﬂh

Ranchi recantly:
(&) Dalhi Wave Rigers  (B) ﬂamm Rhinos
(T} Uttar Pradesh Wizards (D) Mumbai magscians

FIFA-2014 world cup is proposed to be held in:

(&) Spain (8) Brazil
{C) Coatar (D) Russia
Wanchoo commitiee Dealt with:

(&) Agriculture Pricss

iB) Direct Taxes

(G} Right ko information Reforms
(D) Pariamentry Reforms

Kyoto Protocal is:

(A} An intemnational agreemeni 1o reduce green house
Jases
(B} An intermaticnal agreement for extradition of foresgn

(C) An ‘agreement describing formula for
comersion of foreagn exchange

{0 An intemational agresment o deal with International
Temonsts organization

India successfully completed its 101" space mission

by launching Indo — French satellite SARAL recerthy.

This satellite is for:

(&) Cceanographic study

{B] Preparation of a detailed and complete map of Antarchea
{C) Shudy the cimate on Mars

(D) None of these is trua

Governmant of india has recantly granted “Maharatna”
Status to two morg Navratna public sector enterprises.
Which are the these new companies joining the club of
Maharaina public sector undartakings:

{A) Indian Oil Corparation and Coal india Limited

(B} Bharat Heavy slecirical Lid and Gas authonty of india
Limited

(C) Stesl authority of India Limited and Mational Thermal
Power corpiraton Limited

(D) Bharal Heavy Eeciricals Limited and Ol and Natural
g corporakion

Irdlas newty busit and tested missile ‘Astra’ is meant for: &

{A} Surlace o Air Strike

(B} Surlace o surface strike
(] Air 1o Ar Strike

(D) Adir 1o surface Strike
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The Govemor General who adopted a policy-of 8. -t S -Rer Seomi & goide of oo & g

Euvropeaniration of Bureaucracy and an exclusion of
Indian from higher posts:

{A) Comwallis
{B) Warren Haslings
Ch Willaslay
(O} Dalhousie

Blming which' movement Bal Gangadhar Tilak was

ghmn the eplthet Lokmanya ‘and Gandhiji give the

slogan ‘Twins] In & year” respectively:

(a) Chll  India Movement and Cial Discbedience
Movament

Movemen and Mon Cooperalion
Movement

(C} Swadeshi Movement and Dandi March

{0 Khilafal Movemant and Civil Disobedience Movemen

Recently dargah Muinuddin Chisti at Ajmer was in
news due to visit of Pakistani Prime Minister., Dargah
Muinuddin Chisti at Ajmer was built by:

{A) MHutmish

(8) Qutubuddin Afbak

{C) Alawddin Khilji

(D) Khijra Khan

BauzxHe is an ore of:

(A) Lead. (B) Aluminium
(C) Zinc (D) Copper

Which one of the following is the land area in the
extreme south of India?

(&) Cape Cammiran {8} Rameshwaram
{C} ndira Point {0} Puduchermy

Thea ozona layer lies in the:

(A} Stralosphers
(B) Troposphers
{C) Tropopauss
(D} Mome of these

in Union buedget 201394, “Voluntary Compliance
Encouragement Scheme™  was launched by
Government of Indla. This scheme is related to:

(&) Income tax

{8} Service Tex

{€) Commodity Transaction Tax
(D) Securities Transaction Tax

Econaimis Survey 2012-13 statea that Non Performing
Azsets of increased from 2.36% to 357% im
September, 2012, The description of Mon performing
Asveis was with reference to which sector:

[&}- Dl and Gas Sector

(B} Tesecom Sector

(C) Human Resource sector
(D) Banking Secloc
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17. This is the rate at which Reserve Bank of dia 7. lﬂihﬂ&gﬁh#iﬂ#ﬂﬁiﬂ

BOIToWS, monsy from commercial banks:
{A) Repo rale

{B) Rarvorss Repo rale

(G} -Shmgiony Liquidity rato

{00 Cash reserve ratio

18. As per olection commisaion of India, how many
recognizad aatisnel political parties are there in India?
VI ;
| &
oy 2
(D} Mane of these

189. The present deputy chairman of Rajya Sabha is
elected member of Pariament from which State of

India?
[A) Kerala {8) Tamiinadu
{C) Andhra Pradesh (D) Kamataka

20, The constitubion of Indla was adopted on:

i) 26" Movambar, 1849
(B} 287 January, 1850
(C) 15" August, 1947
(D) 26" Jammary, 1951

21. The Pressnt strength of Rajya Sabha members is

w5 remd b whigh ........ are representatives of
states and union territories of Delhi and Pudschermy
and ......... are nominated by president:
(A} 245, 233, 1¢
{8y 250, 238,12
() 247, 235 42
{0 248, 236,12
22. Which of the following glands produces insulin in
human body?
{&) Liver (B) Pancieas
{C) Spleen (DY Fitutacy
23. Which of the following is food poisoning organism:
{A) Lacio bacillus

{8} Clostridium botulinum
() Streplomyces facalis
(D} Mone of these

24. Development of goltre (Enlarged thyroid gland) is
_mainly duis to deficiency of:
(A) lodina (By Calcium
(€} Sadium () bran

25, Tha smission of which causes global warming?
() Nitrogen
(B} Carbon diosde
(C) Carbon monoods
{0} Hydrocarbon
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PART-8 (MATHEMATICS)

DIRECTIONS: (Question Mo, 26 & 27) Answer the foliowing Mi®: (W9 How 26 ol 7/ B o gE @ amm W
questions on the basis of the information given below. Fr=thfian

i Trains A and B ane traveliing on the. sarme route heading
iowards e same destinabion. Train B has already
oovered o distance of 230 km before the frain A" stared

ii. The bwo bains meal each other afler 11 hours after
siart of train 'A'

i, Hid the trains been iravelling towards each ofher (from 8
distancs of 220 kmi fhey would have mat after one hour.

. 'What ia the speed of trains "B’ in kmiph:
{4} 100 8} 180
{€) 118 {0 Mome of these
What is the speed of trains ‘A" in kmph:
Ay 102 (B 805
(Cy 118 (D) Hone of thess

DIRECTIONG. Whal approddenate (you are nol expecied io
cafculate the exaci value] value will come in place of the
guastion mark (7} in following eguationy

384,906 = 15.001 + 44.89=7
(A} 5280 (B) 5820
(C) 5080 (D) =420

2. Thres men or sight boys can do a piace of work in 17
 rdeye.” How many days will two men and six boys

.

togetherisks to finkeh the same work?

(A 11 days (B} 17 days
(C) 12 days (D) Wone of these

Vaibhav got a monthly increment of 12 percont of
Pushpa's monthly salary. Pushpa's monthiy salary is
7800, Vaibhav's monthly salary before incremant was
8500, What smount will he sam in five monthe after
his increment?

{A) T38,160
{C) T37.1860

(B} 735,180
{0 _Mone of these

Tha ratio of two numbers is 45 When the first is
incressed by 20% and the second is decreased by
20%, the ratie of the resulling numbers |s:

(A) 65 B} 54

{C) 58 o) 45

H the numerator of a fraction be increased by 12% and
its denominator decreased by 2%, the value of the
fraction becomes 8/7. Thus, the original fraction is:

() 23 (B) 473

) 3 {D} None of these

What spproximate value will come in place of the
question mark (7} In the following equation?
235.90 + B.0001 x990 =7
Ay 400

() 350

By 280
0y 300

wel = 7 &
AT B TE# T MOER T A W SN

a8 B P B w220 Ry @ m
w0 ol ) 7w AT A e P
i, ¥ oA & orrw wE & 11 @ @ opey O 3T on
gtﬂhﬂ!n s o i
i o &9 H s et @ ol o off B (220 Redrier
it gh &) o o 0% 2 & am Pl
26 iy W B R e &
&) 100 (B} 180
(C) 118 (o) v & ok =t
27, fdrder ot d 20 Aham e b
&) 102 {B) 805
ic) 118 {0y gt @ o onfl
e Prefaftn wliem 4 gvees e & @R @ 8T
R W (W G GdE o & e S ) e T 8
i
28, 384,956« 15.001 + 4499 = 7
(Al 5280 (B} 5820
{G) 080 (D} 5420

3.

i fen W oms gk R R T R A e S
s o u: wyw oH g ol wnd @ qn e d fee R
el

iny 11 P
) 12 R+

(B) 17 =
(o) g 7 wnf Tl

Yo & qun & wfs dow w12 ot Al g e
e & it A w7800 W Y e o g A
tes00 Y 3 gy e w0 L w8 P i
Ay T36,180
(B) ¥35,180
{C) T37.180

() ¥ & = T

& wemt & g 45 B oW oo F 20% & e @
ot ¥ ot qut © 20% worm o R, oftoemn dens
& FII W

(A) B5 B} 54

(C) 58 (D) 4:5

ofy few = ol 12% 397 R o B o @R @ 2%
o wmm ¥, @ Pow o w6 @ wm b gm v A

Firs & B:
(A) 23 (B 41
(C) 3 (D) ol @ i

fofifiers aefrr A e frs (7) & W @ W
I Fmmt

23999 + 0001 = 9.99=7

(A} 400
{Cy 380

B) 260
Dy 300
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Tarun travels'a distance of 24 km at & kmr, another
distance of 24 km at 8 km/hr and a third distance of 24
km at 1% wmir. His average speed for the whole
Jourery {in kmihr) is:

{ay 8 {B) 8

cy o2 o) 7

Rohit ‘lends T10,000 in four parts. If he gots 8%
interest on T2000, :r%i on T4000 and a%n on 71400,

What parcent of interest must he get for the remainder
if his average annual interest is 8.13%7

(A) &% (B) 9%

(C) 10% (0 Mone of these

A solid piece of iron is in the form of a cuboid of
dimansions {48cm = 33cm = 2dcm} is meled and
moulded to form a solid sphere. The radius of the
sphers is:

(&) 1Becm By 21 cm

{C) 23 em M 25cm

Twelve solld apherea of the same size are made by
melting a solld matallie cylinder of base diameter 2 cm
and height 16 em. The diameater of each sphera |8

{A) 2cm (8] Jem
{C) 4em (D) & em

Perimeter of a circle is equal to the perimoter of a
mﬂmmhﬂlcma.\'ﬂmhﬂmﬁmd‘
the clrcle?

{A) Tem {8 12 em
{C) 14em (D) 16 em

Puneeta borrowed from Reena certain sum for twa
years at simple interest. Punaata lent this sum to Venu
at the same rate for bvo years compoond interest. At
the end of two years she received ¥ 110 as compound
intorest but paid T 100 as simple interest. Find the sum
and rate of nteneat:

(&) T 250, rate 10% par annum

(B} T 250, rate 20% per gnium

{C) T 250, rate 25% per annum

(D) Naone of hess

13 chairs and 5 fables were bought for ¥ 8280, If the
avorage cost of the table will be T 1327, what is the
average cost of a chair?

(A} £175 (B} T 165
(C) e 2145 (D) Mone of these

A man goes uphlll with an average speed of 24 kmph
and comes down with an average speed of 3§ kmph.
The distance travelled in both the cases being the same,
The average speed {in knvhr) for the entine jourmey is:
iA) 28.8 (B 328

(Ch 308 (D) None of hese

2013
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{(B) 250 &., T 20% Hfrd

(C) 280 %., o7 25% ofwed
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40% of the smployses of a certain company are men, 42. % S & 40% whard gen B o 75% e 26,000 @

v THY% of the men aam more than 725,000 per year. if
4% of the company's smploysss esm more than
125,000 par yoar, what fraction of the women smployed
by thié company easm T25,000 par year or leas ¥

Ay 113 (B} M

{Cy 104 o) 211

A sum of money - invested at compound interest
amounts in 3 years to T800 and in 4 years to TB40,
What'is the pettentige rate of interest?

A} 4% B) 5%

() 8% 0} 3%

0 the difference babween simple and compound
interast on some principal amount at 20% per annum
for three years & 748, then the principal amount is:

(A} T450 (B) 1375

(C) T380 {D) None of these

& rational number between 1/2 and 35 is:

(A) 215 {B) A5

{C) 47 D) Mone of these

The curved surface of a cyfinder is 264 m’
524 m’. The haight of the cylinder must be:
(A} 4m (B BEm

{C) Bm (D) MNone of thiss

If by selling 110 apples, the cost price of 120 apples is
realised. The gain % is?

1
A ‘l'i;'.i

. b= volume is

1
(B) #5%

(C} 10 1'-"-1 (0} nlv.

Ilmwi!mmﬂ:ﬁntﬂmhﬂ

days, in how many diys can the same work be done
wlm-ﬂiinﬂmm?

(A) 12 days
() 15 days

(B) 1:-;1 days
{018 days

Pujara has a certaln average of runs for his 8 matches
in Border Gavaskar Trophy. In the ninth match he
scores 100 runs and thereby increases his average by
9 runs. His new avarage of runs is:

Ay 200 7 B 24
(Ch 28 oy 32

It costs Rs.1 to photocopy 8 sheet of paper. However,
2% discount is allowed on all photocopies done after
first 1000 sheets. How much will it cost to photocopy
5004 sheets of paper?

(A T 4820

(B) ¥ 3820

{C) T 4000

(D] ¥ 3080

v [A—B]

4T,

i vk wd B R el & 49% whod wes000
wived # ooy =R ¥ d wewd arn Prgw o of sl =
- b v25,000 ohved @ el e o B9

(8 1/m By 4
[Ty 14 oy 2Mm

o T @ s wefe s v 3 of & P oo veoo @
ol b wi 4 ot 7 eador s B g e s 7

[A) 4% (B) 5%

(C) 6% (D) 3%
mqﬂnﬂﬂﬂhﬂﬁ;ﬂﬂtﬂ!ﬂmﬂm
st ofved o o &-gerc van B, & 5w o Reew won?
{h) 1480 (B} 1375

{C) T390 ) ot & = =

12 W s & Wy offw wen Fm 37

(A} 25 (B 35

(C) &7 ) 398 & H¢ =

o FRemET 0 9 50 GEE 264 m’ B GO AR 924 m°
i i & S A Wit

{A)-4 m B) 6m

(C) B'm (D) T & 2

% 110 @6 # dwE, 120 A aew e e o ol
Patam w7

1
ln. 11- “

g 9-%
{g) 3

10
(1] 1“-1'1-* (o) ’ﬁ“

ey R S s Ty

o wht wd 6 e od 11 wibmsl T Re B # fem w
o b

A 12 BF {E}ﬂ%h
() 15 = oy 18 B9
W e gt F qe w6 A A ow Pften e

my o Aw F o 100 = o ot @ v ahem e
™ %% W o O A ahten b

{A} 20 (B) 24
ic) 28 &) 32
= W & B w1 5 @ b
1000 HPF B GEEN w & AW 2% gﬂﬂ

MHhmhimﬂiﬂtnﬂ T A
L

(A) T 4920
(81 73920
(C) T 4500
(O 73980
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DIRECTIONS: Choose the word which isWhmmMMhhm'ﬁMWM-
51. Sagecious:
(A) Obstinate . (8] Sirong R R
(C) Claver (D) Ridiculous -
52, Curthy: :
(&) Frankly (B} Rudely -
(C) Sadiy (D) Happsy
53. Abbraviate;
{A) Conclude (B) Abridge
{C) Extend (D) Thwar

DIRECTIONS: Choose the word which is opposite in meaning as the word given in bold and mark your answer.
54. Indifference:

[A) Meutradiy ' i8) Different

(C) Responsivensss ) (D) Sophishcation
55. Exceptional:

(A} Normal (B Neutrsl

{C) Formal : (D) Traditiona!
56. Tragic:

() Light - (B) “Funmy,

{C) Humorouws {0} Comic

mﬂEm:mhmw.MHmwww
: e g T Retpeat sl L
57. He said, ¥ | must go home at once.™:

{A) He said that he must have gone home al once {8} He said that he must go home fhan and thans.
(G} He said that he had lo go home then {D} He said that he had to go homs af once
E§. Miss Ragini said io mae, “Put these pencil shavings in the dusthin.”:

&) Miss Regini asked me to put those peneil shavings in the dustbin,
[B) Miss Ragini said to me to pul these pancil shavings in the dustbn.
() Miss Ragni orderad me bo pul these pencil shavings in the dustbin.
(D) Miss Ragini told me to put those pench shavings in the dusibin.

589, Sha said , “oh dear! | have just missed the bus .™:

(A} She regratied that she just missad the bus.

(B} She said with regret fhat she had just missed the bus.
(C) She exciaimed thal she has just missed the bus.

(D} She namated thal she just missed the bus.

MRECTIONS: Fill inthe tlank with correst preposition.
60, Ha invited all his friends ....... tea:

A) To {B) For

(C) On (o) In
61. Ritadrove ....... a red light.:

) Froan (B} Through

S).In (0} Amaong
62. Distribute the sweets equally ....... four children.;

(A) Between {B) In

(C) Amang (0 Through
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§3. \dentify the adverb in the following sentence. . . . . ..
He spoke well at the meeting last night.

{l-] Wedl : (B) Mesting
C) Last Wigh (D) AH of these

84, |dentify which ks not adverb from among following underlined words in the given sentences.
She sings protly well. | do my work carefully. Hahmmummmmmmm”
(A) Pretty (B) Carafully '3
(C) Emough (0} - Sweest

85. Given balow is the seniencs in active wice. Choose the comect sentence given in passive voice among the altemethes.
Ought you not 1o revaal the truth now?

i

(A} Ought thee truth not o be revealed by you then? (B) Ought the truth nof 1o be reves|sd by you now?
{C) Should the truth need nol be revealed by you then? (O} Ought the truth need not be-revealed by you now'?
68, Choose the Incomect sentence amondg the foll owing:
(&) A this brne tomormow we will be watching a fim. (B} By red Decamiber v shal Mave been living hene for st years.
(C) 1 hanve been writing four letlers since moming. D) | hane been standing hene for hours.

B7. Given below are four substitutions for the underlined part. Choose the tormect allarmative to make the santencs
grammatically comsct

Make haste lest you ghould not be caught in the storm:
(A} You should be (BY Yoo cotild be
{C) You might be (D} Othanwise you can be

MRECTIONS: In this seckion each sentence has three parts indicated Gy (A} (B) and (C). Read sach sentence to find out whether
there is an amrar. If you find an emor in any one of the parts (A), (B], (T}, indicate your response by blackening the latiar related o
that part in the OMR sheel provided. If a Senlence has no ermgr-indicalie this by blackening “0° which stands for no emor. Emors
may belong to gramimar, usage.

3. Saldom we have beon treated [A) in Such a rude manmner (B)/ by the police personned (G Mo error (0.
89, Some men are born great [A) some achigve greatness (BY and some had grestness thrust an them (C)/ No emor (D).
70. Baware of (AY a tair- mmrfﬂmdmuwhurunamﬂufrundﬂM-dmr-fﬂlndhﬂlld{':]lfﬂumlﬂ]

7. mﬂhmﬁmmmﬂmn{mﬂnﬂnmmnwmwﬂulmm

Gan you come? He ssked mea: v et o

{A) Ha asked me whether | can come {8} Hiﬁﬂmﬂluﬂm -

{C) He asked ma o come {0} He asked ma wialhber | mighl come
TZ ideniify the nouns used both for singular and plural form;

(A) Axis (B} ‘Walf

(C) Sheep () Goat

DIRECTIONS: Fill the cormect arlicle

73, Ramesh's father i M.P and Suresh's father is __ Member of Legislative Assembly:

(A) A An {B) An, An
(C) An, A {0} An, The

MRECTIONS: Complate the sentence cormectly.

74. Ram is 80 proud of his position that he his subordinates:
{4} Looks dowmn upson (B) Looks imc
[C}, Looks for (D) Looks after
DIRECTIONS: Completa the senlence with comec! adversative conjunchion,
75 Shrutl ran fast sha missed the train:
(A Yt {8} Neverthelass
G}y But {D) Moneihebess

sswa [A=10]
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PART-D (REASONING AND ANALYTICAL ABILITY)

76, In a cortain code language ‘PROPORTION is writlen as
PORPROBOIT. How is "CONVERSION" written in that

w g
(A) VNOELERONIS (B) VNCORENDIS
. (C).VNOCRENQIS (D) VNOCREIQNS

T7. If *A T B means ‘A iwdhe father of B°, "A @ B" means ‘A
s tha mstherof B, 'A | B' means ‘A s the wife of B',
then which of the following means 'T is the
grandmother of U'?

&) TRRTy!U B) T@STU'yY
{CL T@R!SIU (D) Mona of these

Five students participated in an examination and each
scored different marks. Maina scored higher than
Meena. Kamla scomed lower than praveen bul highes
than Maina. Anuf's score was between Mesna and
Maina. Which of the following pairs represents the
highest and the lowest scores respectively?

(A} Praveen, Maina {B) Maina, Praveen

(G Praveen, Anuj ({0 Praveen, Maana

A set of figures carmying certain numbers is given.
Assuming that the numbers in each figure follow a
simiar pattem, the missing number (7] is:

5o o <

T

A 81
<) 48 {0y &2
B0. How many triangles does the following figiore contain?
[ -
Ay 1t By 13
- <) 8 (D) Mone of fhese

DIRECTIONS: (Question Mo. 81 & 82) Seven player were
avaiable to be senl fo Sydnay Olympics fer taking pan in
evenis. Government approved sending only four. Fiam, Shyam,
Kurmar, Sita, Geeta, Rila & Anita_are the possitles. Two males
and two females were 10 go. Due fo likes & dislikes, Shyam can
not go if Sjta goes, Kumar cannot go if Anita goes, Sita can nol
g if Rita goss.

B1. i Rita is sstected and Shyam is mjected, the team will

consist of;

(A} Ram;, Kumar, Sita, Rita
{BY _Kam, Kumar, Geela, Rita.
(C). Ram, Kumar, Apita, Rita
(O} Ram, Ggeta, Apita, Gita

If Sita goes, which other players are also on the team:

(&) Fam, Shyam, Rils (B} Ram, Kumar, Geeta '
(Cy Ram, Kumar, Rita (D Ram, Kumar, Anita

76. w5 M By ‘PROPORTION' & "PORPRONOIT" e
mtiﬂﬁw#mmh?r#ﬁ_'m

® wocwmons ) wioRos
() ENOIS’ (D) VNOCREIGNS

7 At wmiAsABwim Y AR waila
By AlER wad b AR el o Prafvie
fafmmadtBTud ol B
8) T@RIyIU
C) TE@R!SIU

el & o aqee 3 Prfen demd & o ¥ o e g e
wit Forx F dheod o wow & U W e w0l B
Rger (7) et ol

afrn owlt B, dher ot s wed oft Gyl

8. it B = w i & of v ol dm b om
wifte &
() Tm, g, e, of
(B) wm, g, i, o
() T, g, e, of fe
(o) TM, o, afew, of f

ot i et & @ B @ gt et of o 3 A
&) T, T, fm (B) W, T, fw
(C) ™, g, fa (D) T, ER, S

yorem [A—11]



DIRECTIONS: (Question no. B3 lo 88) Read the following
passage carsfully and answer the questions given below.

A group of seven fiends Apil. Vinod, Sumit, D#ip, Indra, Firoz
and Gaurav :nurk 2z Engimeer, Accoumiant, IT Officer,
Techmcian, Clérk, Physiotherapist and Reselirch Analyst for
companies L, M, N, P, @, R and 5 but not hecessarily in the
same order. Sumit works for company ‘N and is neilher a
Hﬂandlﬁui_!yﬂmadﬂk._hﬂahmlfﬂﬂﬂrnﬂwtnfm
company R’ Anil work a8 Phwaiotheraplst and does not werk for
company L or ©. The. one who is an Accountand works for
company M. The one who works for company |, works as a
technician. Firoz works for company Q. Gaurav Wworks for
company P as Ressasrch Analyst. Dilip is not an Accountant

3. mmthwﬂl as accountent ¥

{AlLe Vinod (B} Anid

{C) Firaz D) Dilip
84. Whatis mMn of Sumit?

4A) Technician {B) Clerk

(C) Enginesr (D} None of these
B5. Forwhich company does Dilip work?

A a B) R

L (0} N

Which of the following combinations of person,
profession and company is cormact?

{A] Amil -Physiotherapist =M (B} Firoz ~Clark — 3 »
iG] Winod -Accountant - R D) Mone of these

87. There are five books A, B, C, D and E. C s abave D, E
is balow A; D is above A; and B is below E. Which is

the bottommost book?
A B (B} E
w©cC DD

BB, The second and the third digits of the following
numbers are inerchanged and sach interchanged
numbar is written in reverse order. Now, if they are
amanged In the ascending order, which of the original
numbers will be fourth in that order?

552, 587, 176, 468, 715, 394
[A) 468 (Bl 176
[C) 987 o) 718

Rajesh walked 3 km lowards East. Then he tumed to
hiz laft and walked 8 km. He agam tumed 10 his rght
and walked 3 km. After that he turned to his right and
walked 9 km. At last he turmed o his right and walked
& km. At what distance is he from the starting point
and inowhich direction?

(M) 2 krm South (B) 1 km Marth
(GH-3 ke South (D) 3 km Morth

in-the following number series only one number is
wrong. Find out the wrong number.

B @ s

{ch 27 (D) 46668

s [A=12]

ek (e s 00 & gg) Preffarr s @ aegls W@ o
Y Ry ot & @ &
ua e WogE e ofw, Rl g, R, g e o
fa @ wl - L MNP, O R ™ S § i me,
s A e, e, e, RRRRRE of Pad e @
T o Y W § A e 3 Eow g 8o e
A NERrsd am s d e g b a b
o g 06 a8 mwer b o el moR R wd e b
Pt Tl & o o = won ¥ o LW o wwh &
g oo ¥ o b ot ol om S B owsdowm b
= L & B @ &l wrn ¥ o e b Rl eeh o @
B = Fow B m ool P & B e B & o o
w4 el cmaR Wl
83, Frhilfanm ¥ ¥F-0 wee~= & W W = & 37

Ay T (B) o

(C) Tosirm (D) vy
8d. i & im e 7

(A Hetife (B)

(C) FeRfErT (D) e & o
gs. Ty P ool 4 wd v kP

far-Q B R

€ L (D) N
ae. wiE, b o el = Al ddee fe-a b

av.

(&) afs -fefsanife-m (B) RSO - R - O
iC) fr -cwse= -R (D) v & v o

defed agcomEl ¢ DR swhdr e
Wit ovatsmige sl T
E E-en B 8

A B "o

) C o} O ,ﬁﬁa
Presfifem st = g o A she s B o
b o o el gd e %t sgeen A P onen B ot o
sl w7 smften Resr g O b s dem
m‘i‘lﬂni_!lﬁmmﬂm

552, BET, 176, 468, 719, 3198
(A) 468 (B) 178
{C) oa7? (o) 719

Tam 3 el of @ o wm oW oW oA oad 6
fed. =m o o ofe? gyet 3 Bed mwm =
of ot gyt o fedl. ean smon an ol qeeT e B
. e it fag & o R o o o few e 9 07
iy 2 B, efe B 1 A, o

(C) 3 FE.d. aféry (o 3 fr&. o=

B E

Tt v g 49w o Tew ww b R GoW ®)
1,4, 27, 256, 3125, 46669
(A} 3125

(C) 27

(B) 256
(D) 5660
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DIRECTIONS: {Question no. 83 to B6) Read the following FRT (99 en 83 # gs) Praffes s & wgds of oF

passage canefulty and answar the guesiions given below.

A geeup of seven frends Anil, Vinod, Sumit, Dilip, Indea, Finae
and Gauray rﬁ'k as Engineer, Accountanl, 1T Officer,
Technician, Clerk, Physiotherapist and Reselirch Anaiyst for
companies L. M, N, P, O, R and 5 bui nod hecessarly in the
same order. Sumit works for company "N and is neither a
Reseanch Analyst mor @ clerk, Indéa is an [T officer and works for
compeny ‘7' .ﬁnllﬂtul’hﬂlmu and dees nol wirk for
compary L of Q. The. one who is an Accounlanl works for
company M. The one who works for company [, works as a
bechnician, Fior works for company 0. Gauray Sorks for
compary P as Research Analyst. Dilip is not an Accountant

B3. Who amongst the following works &g scoounmtant?

(Al inod (8] Anil

{C) Firaz () Oalap
84. What la the profeesion of Sumit?

{A) Technician (B} Clerk

{C) Enginéer (0} Mone of these
BS. For which company does Dilip work?

Ay Q {8} R

L= o) N

B6. Which of the following combinations of person,

profession and company is comact?
(&) Anil =Physiotherapist =M (B} Firoz ~Clerk = & »
(C) Vinod =Accouniant - R (D) Hone of these

There are five books A, B, C, D and E. C s above O, E
is below A; D is above A; and B is below E. Which is
the bottommost book?

Ay B ® E
{Cy C o) D

The second and the third digits of the following
numbers are inerchanged and gach interchanged
number is writhon in reverse order, Now, if they ame
armangad in the ascending erder, which af the original
numbers will be fourth in thal order?

552, 987, 176, 488, 719, 058

(M) 4G8 (B).178

() a7 oy 718

Rajesh walked 3 krl towards East. Then he tumed to
his left and wathed & km. He again turned to his right
and walked 3 km. After that he turned to his right and
walked 9 km, At last he turnad to his right and walked
6 km. At what distance is he from the starting point
and in which direction?

() 2 km South {B) 1 km Norih
(€1 3 km South (D) 3 km Morth

in_the following number series only one number is
wrong. Find out the wrong number.

1,4 2 3125, 45665:
m"a = (B) 256

) 27 (O} 46860

B7.

8 Ry e & I 2

wpmm o, fede, gl e, pw, R o
P - LM N, PO R T S F T e,
A wem, iR, o, R o e o 8
w1 wa ¥ & srreE :
W & B Fom
=

3
g
«
=

a4%

;;;iaﬂ

]
4

7
g
}
-
11

iy Feim {B) A
() Fdrm (D) Feefr

B4. i W da B
(8 TR )
(C) o (D) &R & W

85 Bfig i ool § ol wowm B
Ao (B R
Gy L (D) N

66, =FH, W o T W wf e S 87
(ay s -fEfaarifte-n By B - = - 0
(C) fFm -owaR= -R (D) ¥ & @i T

g7. e e A B Cc.DwE N ‘C D # ww bk alw E
wWaEdtk pATE @ B E R b we
A el e k.
(A} B 8 E g
) ¢ (D) D B

88, Frfofer sl & o ™ den as - B aE
B o ories vl md wew 8 ageen 3 T e b ooy o
w amind) #= 4 ayafen fewm own A - s s
it w9 A o v o A
592, 987, 176, 468, T19, 398
A) 458 (B} 176
{C) Ba7 iy M9

89, o 3 el of & o e W 9 amd ol gEwT 6
A wm = 7 et gesT 3 Bd oot o
oy i 9 B, wen s W i g 6 B
ﬂ.mmﬁﬁu.miﬂﬂﬂhhrih
(A) 2 FE.. afE 8) 1 FA. T
(c) 3 fed. ol o 3 A v

B0, it dom e 7 deW o den W b R den W
1, 4, 27, 258, 3125, 46669
Ay 3125 (B) 256
c) 27 (D) 46568

ses [A-12]
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DIRECTIONS: (Cuestion Mo. 81 & 92) Study the following - THam: (e dem o1 ﬁiz]mmﬂmiﬂ%
information carefully and answar the questions gven Delow.

Five persons ane trevelling ina train - &, B, C, Dand E. A is the
mother of C who iz the wife of E. D is the brother of A and B is

the husband A.
#1. How s B related to E 7
(A} Fathar (B) Motherinlaw, . . -~ =.
{C) Brokher in law (D} Father in law :
92. How is A relatod to ET
(A} Sister (B) Mother
(T} Maother in law (D} Miece
83 IFA =26, SUM = 27 then CAT =7
(A) 24 (B 57
(G 58 (O} Mone of these
B4, If A =1, FAT = 27 than FAINT = 7
(A) 44 (B 42
{C) 50 {00 None ol these
95, There are some girs and buffalos at a place. If total
numbar of heads is 15 and total number of legs s 48,
than how many girls and how many buffalos ane thera 7
(A B gwis and 7 buffalos  (B) 9 girls and 6 buffalos
(C) 7 girts and & buffales (D) & gets and § bulfalos
86. In the following Question pick the choice that
establishes the logical relationship:
AD.BE::CF:7?
() DG (B) EC
[C) FG (o) G0
97. 8 boys sat in a row. Raju is immediate right of Rakeah
and immadiate left of Shekhar. Shyam e sHting after 2
boys on the right of Shekhar, How many, boys wers
there betwaen Raju and Shyam:
(A)y 3 {8y 4
C) & (D} Mone of hese
98. Given mmm of the dice as being.
_w’
mn!ilﬂﬂmrm number i at the fop:
(B) 4
{cJ 1 C) &
9. In a class examination the average marks in

mathematics by Girls was 0% and by Boys 60%. It is
logical to canclude:

(A) il gals are mone imaligent than boys
(B} Allboys are woaker at maths than girls
(€Y Some girls are better than boys in maths
(- None of these

100. Pick the odd one ot
(A} Tiger {B) Lion
(C) Leopard D) Wall

wwne [A=13]

i Y vy wel & e B

A B C.D @ Eda affasdn 1 o ot E:‘#;
m#ﬁiimhﬁ%ﬂﬂgﬁg

1

36,

ar.

106

BIE&th
T Lqn) P pt (B) & W
(C) W = (D) WF WL
AW E # v owam BT
(A) T W (B} =R
(C) Hm W (o) i =
uiE A =26, SUM =327 T-CAT = 7
(A) 24 {8) 57
(C) 58 (D) w7 # *f il
o A=t FAT =27 @ FAINT= 7
[(A) 44 (B) 42
(C) 50 (o) 79 & g T

wE T O s weiel o 4 Koo R o g dem 18
w4 G dem 46 B A Rl ol o R 43 00
i) & el o 7 A tazsaaﬁla‘uﬁ

() 7 ekl o B W (D) & oghwl od D 4R

et e 4 3 P @ g7 o s we e

w W i

AD:BE::CF:? i

(A DG (8) EC

i) FG ™ (o) 6D

smpe os o 4 BB o viw & dw of & owm
i & #% ot @i h de & ol ot 3 el 4 O
wEm il i em i dm A Rt R
(A} 2 (8 4 i

= SRR T

L L T pama b

& S wem i A

a2 A
A) 5 (B) 4
ch 1 {0} &

o o A afw o o ¥ el @ el g%
8ot ot wgwl W s0% ¥ g Fresd B

(ay it ol gt & s ¥

(B) wi m=d ol # el | e b

(C) %5 el oftwer 3wt & Y Gowsrd e B

(D) gt & S = e

Preffte & & arem @ yPw
(h) e @) fig
(C) Hgam (D) o



